1. [4 marks] Solve /15 — 2z —z =0
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2. [3 marks] Solve —1 <4-£ <5
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3. [3 marks] Find the distance between the points (8, —2) and (3,4)
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4. [3 marks] Find all z-intercepts and y-intercepts for 422 + 9y = 36.
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5. [5 marks] Find the centre and radius of the following circle:
22— 1224+ y*+8y+3=0
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6. [4 marks] Find four points on the following ellipse: QgéL - Ly:{—gl- = 1l
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7. [1 mark] Let f(z) = 2% + 4z. Is f(z) even, odd or neither?
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8. [4 marks] Let f(z) = 2% — 3z. Find and simplify ZZ*1=/(2)
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9. [3 marks] Let f(x)={5+37’ 3<z<0

B e
a) Find f(~3), f(~1), £(0) and f(4).
fl-3)=2
fl-1)=4
Hlai= ®
fli4)= &

b) Graph f(z)




